B APNaLS_4eALA

UEILA40_LZA4E Y

=

o
o

=

0.5

alphal3_4eX1X:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

delta46_12X4eY:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

alpha46_4eY4aY
N w w
o w N

g
)

24
22

1.8F
16F
14F

12

5960

5959.5

5959

5958.5

5958

5957.5

5957

5956.5

5956

alpha46_4eY4aY:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

run:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

segment:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 5958}

P -
e e e eeeeamaenaaaaan .-

5261 5261.5 5262 5262.5 5263
cyclenum

usl_4eY:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

usl_12X:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

usl_sex

5960

5959.5

5959

5958.5

5958

5957.5

5957

5956.5

5956

usl_4eX:cyclenum {run == 5958}

[

5261 5261.5 5262 5262.5 5263
cyclenum

run:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 5958}

P -
e e e eeeeamaenaaaaan .-

5261 5261.5 5262 5262.5 5263
cyclenum

usr_4eY:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

usr_12X:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

usr_aex

5960

5959.5

5959

5958.5

5958

5957.5

5957

5956.5

5956

usr_4eX:cyclenum {run == 5958}

[

5261 5261.5 5262 5262.5 5263
cyclenum

run:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum



3108.5

23108

3107.5

23107

3106.5

-1180

1180.5

-1181

1181.5

-1182

usl_caoill:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

usl_caoil6:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

[

usl_cols

0.5

548.2

548

547.8F
547.6 F

547.4F

547.2

547

546.8

546.6

546.4

546.2 F

546

usl_coil3:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

usl_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

1971.2

4971

1970.8

1970.6

1970.4

1970.2

4970

1969.8

1969.6

1969.4

1969.2

4969

5960

5959.5

5959

5958.5

5958

5957.5

5957

5956.5

5956

usl_coil4:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

run:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum




0445.2F

)445.4

0445.6F
0445.8F
20446

0446 2

)446.4

0446.6

0446.8

20447
0447.2F

1447.4 L

-454

-454.5

—455

-455.5

-456

usr_coill:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

usr_coil6:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

[

usr_col3

0.5

24569

4568.5

24568

4567.5

24567

usr_coil3:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

usr_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

3741.8 F

3741.6

37414 F
37412 F
3741F

37408

3740.6

3740.4

3740.2

3740

3739.8 F

3739.6

5960

5959.5

5959

5958.5

5958

5957.5

5957

5956.5

5956

usr_coil4:cyclenum {run == 5958}

PRI RPN RPN B
5261 5261.5 5262 5262.5 5263
cyclenum

run:cyclenum {run == 5958}

PRI RN EPENE B
5261 5261.5 5262 5262.5 5263
cyclenum




—283

-283.5

-284

-284.5

-285

-338.5

-339

-339.5

-340

-340.5

1X_coill:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

4eX_coill:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

1X_coll3

4eXx_colls

[

0.5

1

1X_coil3:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

4eX_coil3:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

205.5

205

204.5

204

203.5

194

1935

193

1925

192

1X_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

4eX_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum




178

1775

177

176.5

176

182.5

182

181.5

181

180.5

4aY_coild:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

4eY_coild:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

4
3
30
¥

295

28

-235

-24

-24.5

-25

-25.5

4aY_coil6:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

4eY_coil6:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

4ay_coll/

4eY_coll/

-7

I
4l

-55

-6.5

4aY_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

4eY_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum




-228.5

-229

-229.5

-230

-230.5

12X_coilé
IS

35

25

12X_coill:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

12X_coil6:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

12X_coil3
=

0.5

-327.5

-328

-328.5

-329

-329.5

12X_coil3:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263

cyclenum

12X_coil7:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

2X_coil4

2.8

26

24

22

5960

5959.5

5959

5958.5

5958

5957.5

5957

5956.5

5956

13.6F

12X_coil4:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum

run:cyclenum {run == 5958}

5261 5261.5 5262 5262.5 5263
cyclenum
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